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¥ (55)

= (ylsin¢+y2608¢)a%l + (= y1008¢+y2sm¢)i+a%
ogooooooo
(cos¢£—cosgb—+smgb—> <s1n@/)——smgz$—— ;) 82‘
= (COS ¢_ — cos gb— + sin gb—) <Sln @Z)— — sin qb— — cos gb?) ’
= (—COS@Dsmgb—i—cosgbsm@D) 8_+( COS@/)COSQb—SqubSIDQ/J)ag/\ai
e 0|
+(cos” ¢ + sin ¢)81/\8y2
0 0 0 0
= |sin(¢ — ¢)—/\@—COS(¢ ¢) 8 +8_y1/\8_y2
= /sin(y) — ¢)2 + cos(vp — @)% +

= V2,
‘df (cos w% — cos gbaiyl + sin gzﬁain) A df (sm wﬁ — sin qb% — cos gzﬁi)

892
B
d
Af(¢N

= ‘{(C052w+ )ai1 —I—coswsmwi} A {coswsin@/zaiul + (sin? ) + 1)(%2}

/\{(ylsin¢—|—yzcosq§)aiul+( ylcos¢+ygsm¢)i+%}‘
cos?y +1 costpsineg  y;sing + yo cos ¢
= |det | cosysing sin®¢ +1 —yicos¢ + ypsing
0 0 1
= |(cos® ¢ + 1)(sin® v + 1) — cos? 1) sin® 1)|
= |cos? ¢ +sin?ep + 1

= 2.
goooooonb 1.3.800
Jf=—==V2
\/_
0000000000000000 (x)000O0o00o0o0o0oooo
V2 Kodp = \/5/ Ko(s)ds - A(Dy) - 2w
CoXD1><SO(2) co
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66 20 0O0O0gdogooboobooodon

ggbobobooogbbobooooobobo

/M<R2) (/D “°<S>ds) du(g) = (27)° - A(Dy).

Ub0gad DyOODOODOODOOODOODOODOOOOODOODOODOODOODODOO

/;Rq(émMﬁﬂﬁﬁﬁde = Z%W)(LWAmmﬂg@)wxm
~ o (/ » 1 (5)ds ) duo)

= (27m)* - A(Do).
0oo00O
/M(R2) (/awomgm) KON ng))ds) dulg) = (2m)*(A(Do) + A(Dy))

gooood
gboogood

2 [ A(DuNgDy)duls)
M(R2?)

B /M(Rz) (/8@009131) k(0(Do N gDy))ds + Z 0;(0(Dy N ng))> du(g)
= (27)*(A(Dy) + A(Dy)) + 27 L(co) L(cy)

ggbogobobooodgn

/Lm%X(DOOQDﬂdM@)=2WQﬂDd—%AUL»-%L@@L@ﬂ.
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O0000o0oooooo ()o@ oooood

(1) /10000000

(2) L,.(R"O00000000000000 Hausdorf OO 000000
3) vesS~l(1)0DoOo0oo

= {(ru) eRxS" Y1) |reR, 0< (u,v)}
= Z(Ov)
oy U, = R"; l(r,u) — (r,u— (u,v)v) ((r,u) € O)

Oy
Uy

0000000 (Lny(R™),{(Us, ) | v e S (1)) 0000000000

0 (1)RnDDDDDDDDDDDDDDDDDDDDDDDDDDUDD
gooodd-0ogg
<x7u>:7n

Ododooooooooooooooorocoboooon
(2)I0000000I(ru) =I(+,«)00000000000000¢ =r,u =14
000+ =-—ru=—/'0000LRYNO00O00 L0 L,OOOONL =I(r,u),
lo =1(ro,u0) 000000 ry,up,m,us 0000000 0 < (ug,up), (u,up) 000
OuwpOOOoooooooobooogo,, o RXS"_l(l)DDDDDDDDOUOD
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Hausdorf 0000000 (r,u) 0000 Vi 0 (re,ue) 0000 Va0 ViNVa =0
00000000000(W)0 (WO L, (R)DOO000LO0L,000000
00000 (V)N =000000000000 L,_1(R") O Hausdorff O O
oooooo

(3y 00000000 U0 L, (R)OO000000000L,_1(R?) 0 {U,}
0000000004, : U, — ¢,(U,)000000000000000000
do 0 ¢3¢, (U NUy) — ¢w(U,NU,)00000000000000000

(U, ¢,)00000ve s '0000L,,(R)ODOO0O0O000000O0OO
000000 (Uyry,u,)0000000000 r,4, 0000000000000
0000000000 /wd0000wve S Y(1)0000 U, O

gy = dr, @ dr, + ggn—1
goono RiemannDDDDDDDLn,l(R”)DDDDDDDDDDDDDD
Ty = €Ty, Uy = €y (e ==£1)

oooooou,nNU,0¢,=9,0000000000{(U,,9,)}0 L,1(R")O
O Riemann OO OOOOO

R"O0C0000CO00D0OO0O0OOO MRHDOOOOMERYOOOODO @ €
SOn)0D UeR*"ODOODO

T(®,U): X — X +U

000000000M@MRYO SOMR)DR000000000000MRY)O
R"0 Lie0O000000I(ru) € L,(R)O000

(T(®,U)x, Pu) = (Pz, Pu) + (U, Pu) = (z,u) + (U, Pu) = r + (U, Du)

gd
T(®,U)l(r,u) = l(r + (U, du), du)

O00oooooooM@®RMOODODR'OODODOODODOOOOOOM(R™O L,_1(R™)
0Led000000O0O0ODOOOOOOT(®,w)O L,w(RHOODODODOOOODO
00000000000w e S™i(1)000000000000000O0O000O
el,...,e, g

ar@u)(5) =

d(T(D,U))(e;) = (U, @ei% + e, (1<i<n-1).
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0000 4(T(®,U)000000000000000000

d(T(®,U)) <) Ad AA%l

000000d(T($,0))00000000000O0O0OODOOOOOO0OOOO
oooooooooooTre,u)0 L,(RHOODODOoooooooo

00 Eudid0000000000000000R"0000000 Ly(RY)OO
0D0L(R")OO00000000000000S"(1)0000000

T(5"(1) = {(z,v) € (R")?* |2 € S"7(1), (z,v) =0}

0o0ooo7T(s"(1)0 (R0 2»—2000000000000000000
000

F:(R")? = R?; (z,0) — ((z,2), (z,0))
0000 C*000 FO000000O00T(S%(1)=F"'(1,00000000F0
00000 /AO00000000 /R,0000

n n

Fi(z,v) = (z,z) = Zm?, Fy(z,v) = (z,v) = invi

i=1 i=1

gobboboogoboobogao

ox1 Oxn ovl Ovn _ 2.1'1 23:” 0 0
o1 Oxn  Ovi Ovp, U1 Un 21 Tn

(r,0) e T(S™1(1)000D02£00000000000:000n+:0000
oopooood

2¢; 0

v T

000i000000200000000000000000 F4(1,0)=T(5"(1))
02»—20000000000000
(z,v) € T(S"1(1)) 0000

Liz,v)={v+tx|te R} e L;(R")

0000 L(z,0) 000000000000 4 : T(S" (1)) —» Ly(R") 00000
L(RMHOODODOOOOODOOOR'00O0O0O00O0O0000000000000
0D0000+000000000000 20000

{v+tx|teR}
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0000000000000000.0000000000000000000
00 (z,0) = 0000 (z,0) € T(S"'(1)00000000000000 4 :
T(S"'(1)) — L(RMHOOODO0000,LO0O00000 l(z,v) = lL(,v)000
0000000000« =400« =00000000000000000
L T(S" (1) - LR OO0D00000000000 L(RHYOOOO0O0O0O00
0000000000000000 (000000000000 (z,v) — (—2,v)
oooo

00 T(S" (1)) 0 Riemann 00000000000 4 : T(S" (1)) — Ly(R™)
0000 Ly(R") 0 Riemann 000 000007(S* (1)) 0 Riemann 00 g0 00
0000000(x,v) € T(S"1(1)0000 T(S™1(1))000000 (X,U),(Y,V)
oooo

g((X, U)7<Y> V)) = <(X7 U)v(K V)) - <U,.T><‘/, £C>
= (X,)Y)+ (U, V) — (U x){V,z).
gDDDDDDDDDDDDDDDDDDDDDDDDxES"‘l(l)DDDDDD

00000 T,(S" (1) 0000000 e,...,e,.; 000001<i<n—100
00 {z,¢}) 000000 200 00000 ¢(s) €50(n)00000000

¢i(s)(z) = cossx+sinse;,  ¢i(s)(e;) = —sinsx+cosse;,  ¢i(s)(e;) =e; (J #1)

goono
d = — d _ 0 . .
s . oi(s)(x) = ey, s . di(s)(e;) = —x, Ts _ di(s)(ej) = (j # 1)

000000SO(M) 0 SY(1)0000000000080(r)0 T(S"1(1))00
00000000veT,(s"(1))0000

gooog
¢i(s)(z,v) = (¢i(s)(x), ¢i(s)(v))
= (cos sz + sin se;, (v, e;)(— sin sz + cos se;) + Z(v, ej>ej> .
JFi

goo

d —

7 SZO(ﬁi(S)($,10 = (e, = (v, €)).
ug

I B (z,v+ se;) = (0, e;).
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ooodn
(€i7 —<U7€i>$), <07 ei) (1 S i S n— 1)

0 7S '(1)0 (z,v)00000000000000000000000000
0000000000000001<4,j,k<n-—1,i#;0000

(€5, —(v, €)x)) = (i, ) + (v, €3) (v, ) — (v, e) (v, ;) = 1,

(e, —(v,€)x)) = (e, €5) + (v, &) (v, €5) — (v, €} (v, €5) = 0,

,(0,er)) = (e, 0) — (v, e;){x, ex) + (v, e;){ex, x) =0,

= (ei,ei) — (e, 2){e;, ) = 1,

= (ei, ;) — (es, 2){ej, ) = 0.

000 g0 T(S"(1))0 Riemann 0000000000000
T(S”‘l(l))DDDDDDDDDDDDDDDDDDDDDDDDD

T(xv)( (Sn 1( )))
{(w, = (v, w)z) |u € T(S" (1))} @ {(0,u) | u € To(S"(1))}
{(uy, —{v,u1)x + up) | ur,ug € Tp(S™ (1))}
= (v,2)" N (z,0)".

0000000000000 (RY?00000000000000000

00000 7:7T(S" (1)) — S* (1) O Riemannian submersion 0 00 00O
000000 (z,v) € T(S™Y(1))0000 dr: ker(dr)t — T,(S* (1)) 0000
000000000 n(z,0) =000

ker(dm) = {(0,u) | u € T,(S" (1))}
OO00O0ORiemannOO0O0O0OOO0O
ker(dn)* = {(u, — (v, u)z) | u € T,(S" ' (1))}.
godd
dr - ker(dm)* — T,(S™ (1)) ; (u, —{(v,u)x) — u

0000000000000
00 7(S™ 1)) 0 Riemann 000 15 : T(S" (1)) — Ly(R") 0000000
00000000LO0000 Ly(RY) O Riemann0 0000000000000
000000

T(a,0) = (=z,0)  ((z,v) € T(S"7(1)))

00000000070 (R™M?*0000000000000O0O0OOOO

dT(X> U) = (_X7 U) ((Xa U) € T(x,v) (T(Sn_l(l))))
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000000g¢000000dr0¢00000000000000000 70
00000000004 :T(S" (1)) — L(R")O000 g0 Li(R") O Riemann
00000000
M@®"WORO00000 M(R*)O L(R")O000000000

T(®,u) e M(R") (®€S50O(n), ueR")

O (z,v) eT(S"Y(1))DOODO
T(®,u)(v+te)=P(v+tr)+u=Pv+u+tdr =T(P,u)v + tdx
ooooboogd e:000000000D0O00000DO0DOOO0O0OO0
(T(®,u)v, Px) = (Pv + u, Pz) = (u, Px)
goooog
T(®,u)v+tdx = T (P, u)v — (u, Px)Px + (t + (u, Pz))dx
goooooon
T(®,u)ly(z,v) = 1,(Px, T(P, u)v — (u, Pz)dPx)

00000000000 MRYO T(S*(1)00000

T(®,u)(z,v) = (Pz, T(P,u)v — (u, Px)dx)

00000000000000 MRYHOT(SY(1)000000000000
000000MMRY OO T(P,w),T(Ps,up) 10000

T(q)l, ul)T(CI)27 Ug) = T(CI)ICI)Q, q)lUQ —+ Ul)
googoo

T(P1, ur )(T (P2, u2)(w, v))
= T(Py,uy)(Pox, T (Do, uz)v — (ug, Pox)Pox)
= (D1DPox, T(Py, uy) (T (Da, ug)v — (ug, Pox)Pox) — (uy, 1 Pox) Py Pox)

gbooobooobon

(0ooo)
= T((I)h Ul)T(@Q, UQ)U — <U27 @2[)’2)@1@2[)’} — <U1, q)lq)gl’>q)1q)2$
= T(q)lq)g, (I)1U2 + U1>U — <(I)1UQ + Uy, q)lq)gl’>q)1q)2$.
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gooood
T (1, ur)(T (P2, uz)(w,v)) = (T(P1, ur)T (P2, u2)) (2, v)

0D0000O0MM®RY)O T(S"(1)0 Le0 00000000 MRMOOO0OO
004 :T(S"(1))— L(RHO0O0000000
M@®R™OT(S"(1))0000000000000000000000z € S™Y(1)
00000000000 T,(S"(1)0000000 ey, ..., e, 0000T(S" (1))
0 (zv)000000000000000000

(ei,—(v,e;)x), (0,e;) (1<i<n-—1)
00000 d(T(®,4) 000000000
d(T(®,u))(e;, —(v,e;)x)

%. T(®, u)(¢i(s)(x), pi(s)(v))

s=0
d

(®i(s)(x), T(®,u)¢i(s)(v) — (u, @pi(s)(x)) Pi(s)(x))
= (Pe;, — (v, €;)Px — (u, Pe;)Px — (u, Px)Pe;),

d(T(P,u))(0,e;)
d

ds

d

= - (Pz, T (P, u)(v+ se;) — (u, dx)dx)
S1s=0

= (0, Pe;).

T(P,u)(z, v+ se;)

s=0

godd
T(®,u)(z,v) = (Px, T(P,u)v — (u, Px)dx)

00000000000 0000000000000O0000000d(T(®,w))0
O000O0000O00DOoO0oo0ooboooooogo1<i,j<n—1,1#3;0
ERERN

g(d(T (@, w))(ei, =(v, €)x), d(T(®, u))(es; (v, ei)))
= (De;, Pe;) + (u, D) (Pe;, Pe;) = 1+ (u, Px)?,
g(d(T (@, w))(ei, =(v, e;)x), d(T(®, u))(ej, —(v, ¢;)7))
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g(d(T(®, u))(es, = (v, ex)x), d(T (P, u))(0, ¢5))
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. d
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- (ek‘a 07 ek)'

J(t, @, v+ sex)

ggobobobbouooooobobboobouoooooobbobbouago
gooo

(9 "
dj (a,0,0) /\k/z\ldj((),ek, v, ex)T /\ dj(0,0,¢)

n

2

|
—

n—1

= [(,0,0) A )\ (—(v, ex)x + tey, ex, — (v, ex)x) A /\ (€1,0,¢)

2

:ﬁ
o
I
=

n—1
= [(z,0,0) /\ tex, ex, — (v, ex)T) A /\ (e1,0,¢€;)
k=1 =1

n—1 n—1 2
= |(x,0,0)]* /\(tek, ek, — (v, ex)T) A /\(el, 0,€)
k=1 I=1
n—1 — 2
= /\ (telm €, — ?) 6k /\ €k, 0 ek
k=1 k=1

(2 4+ D1,y tl
tlnfl 2- 1n71

(/24 D1y 0
tlnfl 2- 1nfl

= +2)"!

gouoobbbbbouobododybboooao

L T(S" (1)) — L(R)O00D0000000000;000 I(R*xLi(RY)
gugoooooobobobon

;000000 j(t,z,0)=j(t,«,)00000000000000 + 2 =
v+te 00 L(2/,0)=L(z,0) D0000000000L(2,0) =4L(z,v) D000
00002 =400J=0000000000000

(' )= (t,z,v) 000 (', 2'0)=(—t —z,v)

0O j(t,zv)=4{,2,0)000000000000000000O0O0OOOOOO
00j:RxT(S" (1)) = I(R"x L (R*)) 00000000000I(R"x L (R"))
OR"x L1 (RO 2n—-100000000000

l=1(z,0) e P '(R)C Liy(R") (x € S1(1))0D0 0O

I+ 2=T1,2)i(z,0) = l1(z,z — (2, x)x).
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030 EBEudlidOODOOOODOOODOO

li(2,0)) = (2, l1(x, 2 — (z,2)x))

0000000 R"x Ly(RMHOO C*0000000000000:0 I(R™ x
L(RMH)OOCc*0000000o:000000Dd0b0o0oooooooooo
Jo0ooooo0oboobooooooooobD «0oobbogo01<k<L<n—1

goon

di(z,0) = —

dz’(ek, 0) = -

ds

i(z + sx,l1(x,0))
s=0

(z+ sz, l1(x, 2 + sz — (z + sz, x)x))
5=0

. (z+ sz, li(x, 2 — (z,2)x))
0,0),

i(z + sex, l1(x,0))

s=0

(z + sex, li(x, z + sep — (z + seg, x)x))
5=0

(z + seg, li(x, 2z + sex — (z,x)x))
s=0

= (ekv 07 ek)?

d
ds

d
ds

dz(O, €k) =

i(z, hi(éx(s)(),0))

s=0

(2, L(Pk(s)(2), 2 = (2, P () (2)) P (5)(2)))

s=0

= (076k> _<Z,€k>$ - <Z,$>6k).

gogoobboobbodoooooobbobobbboooooooboboobobbooa

goon

= ’($’070>’2

n—1

k=1

/\ di(e, 0 /\ di(0, ¢))
= |(z,0,0) A /\(ek,O, ex) A /\(O, e, —(z,e))r — (z,2)e)

n—1 n—1
. /\ ek, 0,er) A /\ (0,e, —(z,e)x — (z,2)e;)
k=1 =1

/\(ek, 0,ex) A /\ (0,e1, —(z,e1)x — (z,z)e;)

2

2

n—1 2

=1
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000000000000000000000000000001<kl<n—
1, k10000

((ex,0,ex), (ex,0,ex)) =2,

(e, 0,ex), (e1,0,€)) =0,

(e, 0,ex), (0, er, —(z,ex)x — (2, 2)ey)) = —(z, x),

((ex,0,ex), (0,6, —(z,e))x — (z,2)€;)) =0,

((0, e, —(z,ex)x — (z,2)er), (0, e, — (2, er) — (2, 7)er)) = 1+ (2, 2)°,
((0, e, —(z,ex)x — (z,x)ex), (0,e;, —(z,e)x — (z,2)e;)) =0

gobbobuoooobbobuoooobo

2

n—1 n—1
di(z,0) A J\ dier,0) A J\ di(0, e)
k=1 k=1

o 2- 1n71 _<Z>-T>1n71
—{(z,2)1,y (14 {z,2)*)1, 4
2- 1n71 _<z7$>1n71

0 (1+ (z,2)%/2)1,4
= (24 (z,2)H" .

obooobobobobbba0o0ooooboboobo0:00b0obOobonbDgde
goboobuoobooboobooo

00 3.24 (Crofton000) R*O0O0ODOO SOOOO

/ #(SN1)du(l) = kp_1vol(S)
Ll(Rn)
gooodgno

oo
1(S) = {(2,1) € I(R" x Li(R")) | z € S}

0D0000000000000000:00000
iN(I(S)) =S x P"Y(R)

D00000000RxPY(R)02,—200000000000000000
I(S)0 I(R" x Ly(R™)0 2n—200000000000

7w I(S)— Li(R"); (2,1)—1
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000000+, 00000007,000000 I(S)—R*x L(R)O0000
O000O0R"x Li(R") — L(R") 0000000000 C 00000000
00 I($)00000100000000000 000000000000

/L . # (7 (1) dp(l) = / Trndy

1(S)
goooogd

') ={(z0)|z€l, ze S} = (SNI) x {I}
DO000#(r () =#(SN)0000

[ wsanau = [ s
Li(R™) I(S)

000000000000000000000000 7,00000 dr, 000
000 (z,0) e PPYR)O00OO0T,(S"(1)0000000 e,...,e,.1, 0000
000SO 000000000 XO

n—1

X =(X,x)r + Z(X, ek) ek

k=1
ooooooobo.bob0b00ob0ob0gnD1<k<n—10000

? 3
N——

di(X,0) = di <<X,x>x+Z(X,ek>ek

= (X,0,X — (X, 2)x),
di(0,ex) = (0,ex, —(z,ex)x — (2, T)eK).
drp 0 Ly(RM)ODOODOOOOOOOOO

k=1
drdi(0,er) = (ex,—(z,ex)x — (2,2)ex).
000 SO 000000000000000000 X,,...,X,,0000

n—1 n—1

J(mpoi) = /\ drrdi( Xy, 0) A /\ drrdi(0, e,,)

k=1 m=1

drpdi(X,0) = (0,2()(, ek>ek) =(0,X — (X, z)z),

— /_\ (()’ . <Xk,€l>€l) A /_\(em,—<z,em)x— (z,x)em)|.

k=1 =1 m=1
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gobboooobbb«0000

n—1 n—1

Z(Xl, el>el, ey Z<Xn_1’ 61>€l

=1 =1
O zt =span{e;,...,e, 100000000000

n—1 n—1 n—1
J(rpoi) = /\ (07 <Xk7€l>€l> A /\ (€m, —(z, em)x)
k=1 =1 m=1
n—1 n—1 n—1
= /\ (072 Xk7€l > /\ €my, — Z €m )
k=1 =1 m=1
n—1n—1 n—1
= (Xp, e)er| - 1= |det((Xy,er) /\ enm
k=1 I=1 m=1
n—1 n—1
= |det(<Xk,el | = </\ Xk,/\ > /\Xk/\x
k=1 = k=1
o0dododood 1.3.1200
n—1 n—1 n—1
</\Xk,/\ > = /\Xk/\*</\6l> = /\Xk/\x
k=1 =1 = =1 k=1

gobboboogoobobodao

/ Jrpdp = / JWLJid,u:/ J(mp oi)dp
1(5) SxPr-1(R) SxPr—1(R)

n—1 n—1
:/ /\Xk/\:cdu:/ / /\Xk/\xdu d.
SxP=Y(R) |14 S \JPHR) |
oood
1
1
/ =2/ dyi(x)
Pnfl(R)kl Snl
n—1
gbooooooog /\Xk/\xDTZSDDDDDDJ;DDDDDDDDDDD
k=1
oos~i(1)0D000oO0oooooooooo

1
5 [ el = [ siduta) = vol (D" (1) = s
Sn=1(1) gn-t

+

gobobuogoobboils4gubbooooooboboogd

/ Jrrdp = / Kn—1dpt = Kp_1vol(S).
1(5) s

000000000000 00000DO0DbO0O0D Crofton00OD0ODOO

/L ®") #(S N Ddp(l) = Kn_1vol(S).
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3.3 EuclidOUOOOOOOO

n000000000 M,(R)O000000 O(n)0 M,(R)00000000
00000000rO000000000S,(R)0D000

o: M,(R)— S,(R); X —'XX

0000 C*000 e000000(n) =¢'(1)0000000(r) 0000 0
000000000000000000(m) O M,(R)000000000000
00000X,Y € M,(R)DOODO

d d
dox(Y) = 5| p(X+sY) = 0| (X sY)(X +5Y) =XV + VX,
s=0 s=0

geOMn)0O0O0O
dpyx(gY) = t(gX)gY —|—t(gY)gX ='XY +'Y X = dpx(Y).

0000 dpgxog=dex : M,(R) — S,(R) 000 Orank(dp,x) = rank(dex) O
gooboboodddpy; 000000 b00o0ooobobooon

do(Y)=Y +'Y (Y € M,(R))
00dppy000000O0(n)O M, (R)DODOOODODOOOO0ODOOOOOOOODO
dim O(n) = dim M, (R) — dim S,(R) = n* — %n(nJrl) = %n(n— 1).

00O ODO0O000O0DOOCOO
O(n) x O(n) — O(n) ; (9,h) = gh,  O(n) = O(n); g g~

O0C*00000000(M)0 Le00O00O0O
n00000000 A,(R)O0O0O0OO(n) 0000 1000000000000

T1(O(n)) = kerdyp; = An(R)

oo0oooooooo M,(R)oooo

() = e = L3 Xy, (Y e Mm))

ij=1

00000000M,(R)OD0DO00D00000 S,(R)0 A, (R)D00O0O0O0OO0
0D000000geO(n) 0000

(9, 9Y) = Ltr("(gX)gY) = 5tx(‘X'gg¥) = Sx('XY) = (X,Y)
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0D00000O0(OOO0OO0O0OOO00ON M,(R)O0DO00O0000O
1 t 1 t t 1 t t 1 t
(Xg,Yg) = §tr( (Xg)Yyg) = §tr( g’ XYg) = §tr( XYg'g) = §tr( XY)=(X,Y)

000000O0(O00000000000 M,(R) 000000000 M, (R)
000000 O(n) 0000 RiemannOOO0OD0O00O000000 ge O(n)00
gud

Ly,:O0(n) — O(n); h— gh, R,:0(n) — O(n); h— hg

00000000000000000000000O(n)00000ODO0O0O0O
i:0(n) = 0m): g—yg"

000000000000000;000000000000000000000
0D00000000000000000000000000000000000
D000000geOn) 0 AcA,(R)ODDODD

: d . d i
dig(dLy(A)) = 7 i(gexptA) = pr exp(—tA)g~! = —dR,-1(A).
=0 t=0

000D00diy=—dR,10(dL,)0000di,00000000000000
000 SO(r)0 O(r)000000000000C0OR'0000000000O0
000 MRYOODODOMRYOOODODOO ge SO0 ueR*"O0000

T(g,u)(z) =gxr+u (x € R")

O00000000000000 MRMHOODDODODODOO SOn)xR*OOOO
MR"YWOR'OUOOUOOOODODOOODOOOOOOOOO

gaaathid)

O000000MER"YO RO LeO0O0OO0DO0DO0DO0DOOOODOOOOOO

S Uh [ CRI R

00
S5O0(n) x R" — M(R") ; (g9,u) — T(g,u)

O0000000000SO(n)0 RiemannO OO R"O00000 Riemann O 00O
MRYOOOOOO

00 3.3.1 MR"WOUOOUOOOODOOODOODODOODODOOOOOooOooOO
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00 a=T(g,u)e MR OOOO Ly(T(h,v)) =T(gh,gv+uw) 000000
A€ A(R), Y eR"0000

d d
dLo(dLp(A),0) = —| LyT(hexptA,v) = —| T(ghexptA,gv+u)
dt|,_, dt|,_,
= (dLgh(A)70)=
d d
dL,(0,Y) = —| LJT(h,o+tY)= —| T(gh,g(v+tY)+u)
dt|,_, dt|,_,
= (0,gY).

gbobodl, 0oonooooboooo L  oboooboonobooboUL, g
ggboobuoogoobo

oo 3.3.2 M(R”)DDDDD alOO0O0O
R,(z) =z« (x € M(R™))

0000000 R,O0000a = T(g,u) € MR OOOO Ru(T(h,v)) =
T(hg,hu+0v)000000A€ A,(R), Y e R"0000

d
dR(dLp(A),0) = —| R,T(hexptA,v)

dt|,_,
d

= —| T(h(exptA)g, h(exptA)u+v)
dt{,_g

= % T(hg(exptg™"Ag), h(exptA)u + v)

t=0

= (dLyy(g™" Ag), hAu),

d d
dR,(0,Y) = —| RJT(hyv+tY)= —| T(hg,hu+v+tY)

dt|,_q dt|,_o

—= (0,Y).

0000 dR,0000000000000000000000000O0OOOR,
000000000000000000001<a<b<n00000(ab)00
010(h,e)000 -10000000000000000 A4,,000000000
{Awp|1<a<b<n}0 A,(R)00000000000000O0R0000OC
00 {X;|1<i<n}00000

N\ dRu(AL4(401).0) A \ 4R (0. X,

a<b
n

= /\(dth(g_lA%bg), hAa,bu) A /\(O,Xi)

a<b =1
n

= A(dLig(g7" Aapg). 0) A \(0, X;)

a<b =1



3.4. Poincaré 0 OO 87

000000SO(n) 0000000000000 00O0O0O0OOOOOO0OOO
0331000dR, 00000000O00DO0ODOOO0O0ODODODOODODbObDOn
gobooboobRr,00000O00DOO0OO

3.4 Poincaréll 10

Euclid 00 0000000000000 Poincaré 000000000
00 3.4.1
I(R")* x M(R")) = {(z,y,0) € (R")* x M(R") | 2 = a(y)}

0O0000I((R")?:x MR™)O (R")2 x M(R")O n+dimM(R")OO00000
0000000000

i (R")?x SO(n) — I(R")? x M(R™))
; (:L‘7yag) = (l‘,y7T(1,ZL‘)T(g, O)T<1a _y)>

gobobo.000000.0000000000¢0

00 (RY?x M(RM OO (2,9, T(g,u)) 0 I(R")? x M(R"))0D000000
0oooobodd z=gy+u0000000

F: (R x M(R") — R"; (z,y,T(g,u)) — gy +u—x

0000 I(R")2xM(R")=FY0)000000000 FOOOOOOX €R”
oooo

d
AF 2y 1(00)(X,0,0) = = F(z+tX,y,T(g,u))
t=0
d
- £ X
il . (gy+u—=x )
= —X

0000000dFO00000000000000000000 I((R")?xM(R"))
0 (R xMR"YOOOOO0O0O0O0O0O000O
00:0000000000000000:00000040 (R")2xM(®R")0O
0Cc~*0000000000000i0 I(RY)?x M(R")00 C*000000
00 (z,y,0) € I(R")2 x M(R")0 000

T(1, —2)aT(1,y)(0) = T(1, ~z)aly) = T(L,—a)(x) = 0
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000 T(1, —2)aT(l,y) 00000000 T(1, —2)aT(l,y) € SOM)0OO0O0D0
oogog
j oo I(R")? x M(R")) — (R")? x SO(n)
) (.Qi,y,Oé) = (xvva(lv —fI?)OéT(l,@/))

ooboooggyjOo00b0ogyjoc*bgbbodb.000bboobbobooooDon
Uo0ooogooobooon

00 3.4.2 (Poincaré 0 00) 000 p,q,n0 p+g=n00000000p,¢q0
00000000 COOO0O0O0OR"OO 0000000 S,0¢0000000
s, 0000

/ #(So N gSy)du(g) = Cvol(Sy)vol(Sy)
M(R™)
gooooo

00 3.4.3 03500 EucdidDOOOOO HotellingOOOOOODODOO p =
1, ¢q=n—-1000000 34.20 Poincar¢e 000000 CO

2vol(SO(n + 1))
(S1(1))vol(Sm=1(1))

C=7

000000000000000 p+¢>n0000 p,q00000 Poincaré O
000000000000 Poincaré 000000000 OO0OR"OO p000O0
000 S0¢0000000 S,0000

5 _ vol(SPH T ()vol(SO(n+ 1) o
/M(Rn)v 1(So N gS1)du(g) vol(SP(1))vol (S(1)) 1(Sp)vol(S7)
gooooo

gugd

1(50751) = {(Q:;y,g) € I<<Rn)2 X M<Rn)) | VS 507 Yy e Sl}
Oo0oodo 3410000000 .00000
i_l(I(So,Sl)) = S() X S] X SO(n)

000000000 SO(Mn) x (RM)?0 n+n(n—1)/2=dim M(R*) 000000
000000000001(S,,S)0 I(RY? x M(R™) O dim M(R") 00000
ogooooo

T 2 (S0, 51) = M(R"); (2,y,9) — g
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000000 7, 0000000m,00000 I(S,,S;) — (R*)?x M(R") OO
0000000 (R x M(R*) — MR")OODODOODOOOO0OC®00000
0000000007, 000155000000

| #miodne) = [ I
M(R™) I(S0,51)

DoooooQ
m (9) = {(9(®),v.9)) | 9(y) € So N gSi}
0000 #(my(9) =#(SoNgs) 000D
(/ %NSbﬂgSﬁdu@)zi/) Jmadp.
M(R") I(S0,51)

000000000 6:S xS xS0(n) —1(S,,5)000 155000000

/ Jrydp = / JmyJidp = / J(mpr 0)dp
1(S0,51) SoxS1x50(n) SoxS1x50(n)

ooo
t/ #%SoﬂgSﬂdu@)zi/ J (7 0 i)dp.
M(R™)

SoxS1xS50(n)
0000000000000 00000000000 myoi00000 d(mpy01)

00000 (z,y,9) € (myoi) 0000

vy oi(x,y,g) = T(1,2)T(g9,0)T(1,—y) = [(1) f] [g (1)] [(1) _13/]

_ |t lg ey | _ |9 v—gy
0 1[0 1 0 1
= T(g.z — gy).

0000 myo0i00000 d(my0d)0 X € To(Sy), Y € T,(S1), A€ A,(R)O 0O
00000000000

(0 X
d(ﬂMoi)(X,O,O) = 8 0 |’
(0 —gv
dmo)0,Y,0) = | 70|,
‘ d gexptA x — gexptAy
d(mar 04)(0,0,dLy(A)) = it 0 1
t=0
dLy(A) —gAy

0 0
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T,(S)0000000{X;|1<:i<pl0T,(5)0000000{Y;|1<j<q}0
A,(R)000DD0DODO {A,,]1<a<b<n}00000000000

d(mpr o) (/\X/\/\Y/\a/<\de )

~

CALO KA A | ) —adusy
Mo oo |7 o oo

L d Jj=11L J a<b

CorTox ] Ao =gy dLy(Aap) 0
_/\ooA/\o o]A/\ go o]'

.
—_

i=1 L | j=11 | a<b L
oo
p q
d(ﬂ'M OZ) (/\AXZ N /\Yj A /\ dLg(Aab>>
=1 j=1 a<b
b T - _ -
X, —gY dL,(A,
Moo No o 0 0
i=1 [ 7j=1 L | a<b
p [ T qa [ T
X —qY. L, (A
AT XA AT ][ | A [ et 0
Moo Ao o0 0 0
i=1 | ] =11 | a<b
p q
= IAXGA NG| dLg(Aay)
i=1 j=1 a<b
p q
= A Aoy
i=1 j=1
oo
J(mpr01) /\ X; A /\ gY;
DDDDDDDDD/ J(myod)dp 000 SO()0000000SO(n)
So><Sl><SO(n)

ggbbobuoooobbbuoooobbbuooobbboooon

0X;0Y,00000000000000000000 T,(5)01T,(5)0000
ooooooobodp,eibOb0O0OO0OOOODO CObOObOODOoDOD

/ J(mar 0 d)dp = / C'dp = Cvol(Sy)vol(Sy)
S()XSlXSO(n) SoXSl
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000000 Poincarée OO OODOO

/M(Rn) #(SO N gSl)du(g) = CV01<SO)V01<51).

3.5 Steiner ] [0 J 0 Hotelling I (1 [

R"0000000S00000000.00000000000S800000
00 XO {e,e)=10000000

0= X{e,e) =2(Xe,e)

O000000XeO SOOOO0OOODODOOOSOOO0O fO0O0O0O (fX)e= f(Xe)
O000000zeSOO00O0 (Xe), O X, 0O0OODODDOOODODOOO

AX = —Xe

OO00D0O0AO SOO0O0OO0OUODOOO0ODOOUODOOUOODOOODAD SOOOO
OoopooooosSooboooD x,vyoooo

(XY,e) = (YX,e) =(X,Y],e) =0
D0DO00O(XY,e)=(YX,e)0OOOOOXDO (Y,e)=0000000
0= X(Y,e) = (XY,e) + (Y, Xe) = (XY, e) — (Y, AX).

goooog
(V, AX) = (XY, e) = (VX,e) = (X, AY)

0000ADDODOCOOOCOOOOOOO0DADDOODOOODOOOOOOOOOO
00000000000000000AO0OOOO SOOO00OO0OO0OO00OO00
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ooo
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On-1(t1, ... tho1) = ti---th_1.

SO00i00000000 M(S)O
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0000000000000 M(S)=vol(S)0000M((S)000000000
000000SO000000000000000000000 GaussOOO 0
000SO000000000 A0D00000000SO00000 X0000

dy(X) = Xy = —A(X)

O00oooooJy=|k-k,1|000000SOO0O0OOOCOOOOOOO
00000 x(S)0000 SO Euer00000000O0O0SOOO0OO0OOOOOO

My 1(8) = Jnx(S)

goobbooooboboboooRKO proobboooooo
Mn_l(aK):wn

gooooo
KcRrooooooOOooKkOUOOoOoODOOOOODDOOOODDOKOOO
UOKOOODOOOOooOooboooegOboobOoOop>000000
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00000000000PKOOO0OO0OO0DO00 ADDOOOKOOOODO XO
000
df(X) =X —tXe =X +tAX)

0D000[0,)000000000§/0t00000
df(0/0t) = —
0000000000

i
L
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i

gdbbbuddley=1000000000000000

Il
o

vol(K,) = vol(K)+ vol(K, —intK)

pn 1
= vol(K / / (K. oy )t dtdp
oK

p
= vol(K)+ , / Oi(K1yevvy Kp_1)dp
() ;m [ )

il s
:-muKy+§:f+1( @ )A@@K)
1=0

000000 Steiner D00 OOOO
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- = 1<i<k
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A b
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t1+1 tit; t2/2+1 titj/2 0
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gogbooo
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i=1
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0000000 R"x x( RMHOO C*0000000000000:0 I(R™ x
Ly (R")O0O C*00000000/0000000:000000000000
00;00dd0ooooooooooooboboooon a00000d1<Lp<
k,k+1<a<nO0O0O0O
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k
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d + l
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ds |, e i=1

d k
= - » (z + sep, I (:c, z— Z(z, ei)ei>>

=1

= (€p7 0, O)v
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d
di(ea,0) = —| i(z+ seq, )
dS s=0
p k
= — 2+ seq, I (E,Z+S€a_z<z+5€aaei>ei
ds | i=1
p k
- — 2+ seq, Uy | @, 2 + seq —Z(z,ez)ei
ds|,_g i=1
- (eaa 0) 6&)7
S d .
dl(O, epa) - % 'L(Z, ¢p0¢(s)x)
s=0
p k
S T CUY CRCRSES ermamrNen )
s=0 i=1
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000000 DOOo0ooOoooooooooooooooooolr<p,g<k, k+
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00000000 000000000:i00000
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000000000 R"xG(R)O (k+1)(n—k)0D00D00D0DODDOOOO
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goouooooo 131200
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goooooooooouoon
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0000000 T7.S0000000000Z0000000000000GxR™)
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